_	FARRINGTON HIGHWAY DRAINAGE IMPROVEMENTS, VIO TO NANAKULI STREAM AND VICINITY OF LUALEI PLACE AVENUE D.: 93A-01-01 AND 93A-02-01 Net Length of Project:	Æ						·					OF HAWAII		
ISLAND: OA	HU DISTRICT: EWA AND WAIANAE		ONSTRUCTION LTD.	DELTA CONSTRUCTION CORPORATION		OKADA TRUCKING CO., LTD.			INSTRUCTION PORATION	T. IIDA CONTRACTING, LTD		DEPARTMENT OF TRANSPORTATION			
	RTISED: Internet Posting November 13, 2003 BIDS OPENED: December 18, 2003		,, ,, ,, ,, ,, ,, ,, ,, ,, ,, ,, ,, ,,									HIGHWAYS DIVISION			
COMPLETIC	N TIME: One Hundred Sixty (160) Working Days														· · · · · · · · · · · · · · · · · · ·
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
202.0100	Removal of Existing Asphalt Concrete Pavement (650 S.Y.)	L,S.	L.S.	L.S.	\$5,000.00	L.S.	\$9,000.00	L.S.	\$5,475,00	L.S.	\$23,600.00	L.S.	\$10,000.00	L.S.	\$20,825.00
202.0200	Removal of Existing AC Curb (580 Lin. Ft.)	L.S.	L.S.	L.S.	\$2,000.00	L.S.	\$8,000.00	L.S.	\$1,500.00	L.S.	\$2,000.00	L.S.	\$3,000.00	L.S.	\$15,000.00
203.0100	Roadway Excavation	800	Cu. Yd.	\$70.00	\$56,000.00	\$95.00	\$76,000.00	\$100.00	\$80,000.00	\$138.00	\$110,400.00	\$80.00	\$64,000.00	\$75.00	\$60,000.00
203.0200	Borrow Excavation	450	Cu. Yd.	\$50.00	\$22,500.00	\$90.00	\$40,500.00	\$50.00	\$22,500.00	\$50.00	\$22,500.00	\$60.00	\$27,000.00	\$65.00	\$29,250.00
206.2020	Structure Excavation for Drainage System	1474	Cu. Yd.	\$90.00	\$132,660.00	\$95.00	\$140,030.00	\$200.00	\$294,800.00	\$112.00	\$165,088.00	\$240.00	\$353,760.00	\$100.00	\$147,400.00
206.2025	Additional Excavation Below Drainage Structures	34	Cu. Yđ.	\$30.00	\$1,020.00	\$20.00	\$680.00	\$175.00	\$5,950.00	\$175.00	\$5,950.00	\$500.00	\$17,000.00	\$200.00	\$6,800.00
209.0100	Water Pollution and Erosion Control	F.A.	F.A.	F.A.	\$45,000.00	F.A.	\$45,000.00	F.A.	\$45,000.00	F.A.	\$45,000.00	F.A.	\$45,000.00	F.A.	\$45,000.00
304.0100	Aggregate Base Course	100	Cu. Yd.	\$60.00	\$6,000.00	\$180.00	\$18,000.00	\$80.00	\$8,000.00	\$149.00	\$14,900.00	\$70.00	\$7,000.00	\$65.00	\$6,500.00
305.0100	Aggregate Subbase	150	Cu. Yd.	\$50.00	\$7,500.00	\$135.00	\$20,250.00	\$75.00	\$11,250.00	\$128.00	\$19,200.00	\$60.00	\$9,000.00	\$60.00	\$9,000.00
312.0100	Plant Mix Glassphalt Concrete Base Course	800	Ton	\$200,00	\$160,000.00	\$225.00	\$180,000.00	\$174.00	\$139,200.00	\$228.00	\$182,400.00	\$200.00	\$160,000.00	\$75.00	\$60,000.00
401.0100	Asphalt Concrete Pavement Mix No. IV	250	Ton	\$220.00	\$55,000.00	\$250.00	\$62,500.00	\$200.00	\$50,000.00	\$250.00	\$62,500.00	\$230.00	\$57,500.00	\$75.00	\$18,750.00
503.1210	Reinforced Concrete Jacket for Culvert	361	Lin. Ft.	\$300.00	\$108,300.00	\$200.00	\$72,200.00	\$80.00	\$28,880.00	\$210.00	\$75,810.00	\$200.00	\$72,200.00	\$175.00	\$63,175.00
603.0010	Bed Course Material for Culverts	233	Cu. Yd.	\$50.00	\$11,650.00	\$115.00	\$26,795.00	\$75.00	\$17,475.00	\$110.00	\$25,630.00	\$60.00	\$13,980.00	·\$70.00 Ì	\$16,310.00
603,1008	18-Inch Reinforced Concrete Pipe Class III, or 18-Inch High Density Polyethylene Pipe (Type S), or 18-Inch Aluminum Spiral Rib Pipe, "t"=0.105 Inch	361	Lin. Ft.	\$90.00	\$32,490.00	\$55.00	\$19,855.00	\$125.00	\$45,125.00	\$24.00	\$8,664.00	\$100.00	\$36,100.00	\$50.00	\$18,050.00
L.,	and the second s		<u> </u>	<u>.,,.</u>		. .		- : 		الحمر كسوريس المسادي ا	······································			Sheet No.	1 of 6 Sheets

							· · · · · · · · · · · · · · · · · · ·	<u></u>		, '. '. ' '				***		
•	FARRINGTON HIGHWAY DRAINAGE IMPROVEMENTS, VI TO NANAKULI STREAM AND VICINITY OF LUALEI PLACE AVENUE			JE 	·											
PROJECT NO.: 93A-01-01 AND 93A-02-01 Net Length of Project: 1.16 Miles														STATE OF HAWAII		
ISLAND: OAHU DISTRICT: EWA AND WAIANAE					CONSTRUCTION D., LTD.		ONSTRUCTION	OKADA TRUCKING			NSTRUCTION CORATION	Į.	T. IIDA ACTING, LTD.	DEPARTMENT OF TRANSPORTATION		
DATE ADVERTISED: Internet Posting November 13, 2003 BIDS OPENED: December 18, 2003					J., ĘTD.	CORPORATION		ÇO., LŤD.		CORPORATION		OOMITO		1	AYS DIVISION	
COMPLETION TIME: One Hundred Sixty (160) Working Days																
ITEM NO.	TEM NO. ITEM QUANTITY UNIT USED			UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	
603.1010	24-Inch Reinforced Concrete Pipe Class III, or 24-Inch High Density Polyethylene Pipe (Type S), or 24-Inch Aluminum Spiral Rib Pipe, "t"=0.105 Inch	839	Lin. Ft.	\$110.00	\$92,290.00	\$65.00	\$54,535.00	\$135.00	\$113,265.00	\$34.00	\$28,526.00	\$100.00	\$83,900.00	\$55.00	\$46,145.00	
604.5106	Type "A" Storm Drain Manhole, 6.00 feet to 6.99 feet	2	Each	\$5,000.00	\$10,000.00	\$7,000.00	\$14,000.00	\$7,500.00	\$15,000.00	\$10,000.00	\$20,000.00	\$10,000.00	\$20,000.00	\$8,000.00	\$16,000.00	
604.5252	Type 1 (A-9P) Grated Drop Inlet, 2.00 feet to 2.99 feet	1	Each	\$5,000.00	\$5,000.00	\$9,000.00	\$9,000.00	\$6,500.00	\$6,500.00	\$7,090.00	\$7,090.00	\$7,000.00	\$7,000.00	\$8,000.00	\$8,000.00	
604.5253	Type 1 (A-9P) Grated Drop Inlet, 3.00 feet to 3.99 feet	2	Each	\$5,000.00	\$10,000.00	\$9,000.00	\$18,000.00	\$7,250.00	\$14,500.00	\$7,370.00	\$14,740.00	\$8,000.00	\$16,000.00	\$10,000.00	\$20,000.00	
604.5254	Type 1 (A-9P) Grated Drop Inlet, 4.00 feet to 4.99 feet	3	Each	\$5,500.00	\$16,500.00	\$9,500.00	\$28,500.00	\$8,000.00	\$24,000.00	\$8,490.00	\$25,470.00	\$9,000.00	\$27,000.00	\$11,000.00	\$33,000.00	
604.5255	Type 1 (A-9P) Grated Drop Inlet, 5.00 feet to 5.99 feet	3	Each	\$6,000.00	\$18,000.00	\$9,500.00	\$28,500.00	\$8,750.00	\$26,250.00	\$8,835.00	\$26,505.00	\$10,000.00	\$30,000.00	\$12,000.00	\$36,000.00	
604.5262	Type 2 (A-9P) Grated Drop Inlet, 2.00 feet to 5.99 feet	2	Each	\$4,500.00	\$9,000.00	\$9,000.00	\$18,000.00	\$8,500.00	\$17,000.00	\$6,520.00	\$13,040.00	\$6,000.00	\$12,000.00	\$12,000.00	\$24,000.00	
604.5272	Type 3 (A-9P) Grated Drop Inlet, 5.00 feet to 5.99 feet	1	Each	\$6,200.00	\$6,200.00	\$10,000.00	\$10,000.00	\$9,500.00	\$9,500.00	\$9,945.00	\$9,945.00	\$9,000.00	\$9,000.00	\$14,000.00	\$14,000.00	
604.5275	Modified Type "1211214P" GDI, 5.00 feet to 5.99 feet	2	Each	\$6,500.00	\$13,000.00	\$10,500.00	\$21,000.00	\$9,750.00	\$19,500.00	\$10,380.00	\$20,760.00	\$10,000.00	\$20,000.00	\$15,000.00	\$30,000.00	
604.5285	Type "1" Outlet Structure, 5.00 feet to 5.99 feet	1	Each	\$4,000.00	\$4,000.00	\$8,000.00	\$8,000.00	\$12,750.00	\$12,750.00	\$7,770.00	\$7,770.00	\$9,000.00	\$9,000.00	\$12,000.00	\$12,000.00	
606.0100	Guardrail Type 3 - W-Beam with Strong Post	20	Lin. Ft.	\$35.00	\$700.00	\$100.00	\$2,000.00	\$30.00	\$600.00	\$33.00	\$660.00	\$50.00	\$1,000.00	\$75.00	\$1,500.00	
606.0200	Terminal Section Type SKT 350, Fleat 350 or ET 2000 Plus	1	Each	\$5,000.00	\$5,000.00	\$2,000.00	\$2,000.00	\$3,650.00	\$3,650.00	\$4,050.00	\$4,050.00	\$4,000.00	\$4,000.00	\$4,500.00	\$4,500.00	
608.0100	Concrete Sidewalk	800	Sq. Yd.	\$80.00	\$64,000.00	\$90.00	\$72,000.00	\$60.00	\$48,000.00	\$82.00	\$65,600.00	\$110.00	\$ \$88,000.00	\$200.00	\$160,000.00	
608.0200	Bituminous Sidewalk	200	Sq. Yd.	\$160.00	\$32,000.00	\$150.00	\$30,000.00	\$112.00	\$22,400.00	\$108.00	\$21,600.00	\$200.00	\$40,000.00	\$180.00	\$36,000.00	
609.0200	Curb and Gutter, Type 2DG	500	Lin. Ft.	\$30,00	\$15,000,00	\$40.00	\$20,000.00	\$30.00	\$15,000.00	\$64.00	\$32,000.00	\$60.00	\$30,000.00	\$150.00	\$75,000.00	
		1					·		·				`	Shoot No.	. 2 of 6 Sheets	
														CHECK INC.	. <u> </u>	

PROJECT: FARRINGTON HIGHWAY DRAINAGE IMPROVEMENTS, VIO TO NANAKULI STREAM AND VICINITY OF LUALEI PLACE AVENUE PROJECT NO.: 93A-01-01 AND 93A-02-01 Net Length of Project: ISLAND: OAHU DISTRICT: EWA AND WAIANAE DATE ADVERTISED: Internet Posting November 13, 2003 BIDS OPENED: December 18, 2003 COMPLETION TIME: One Hundred Sixty (160) Working Days		O PRINCESS	HIGHWAY CONSTRUCTION CO., LTD.			DELTA CONSTRUCTION CORPORATION		OKADA TRUCKING CO., LTD.		RONS CONSTRUCTION CORPORATION		T. IIDA CONTRACTING, LTD.		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMQUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
610.1010	4-Inch Reinforced Concrete Driveways (4 Each) (Sta. 172+34, Sta 173+95, Sta 175+35, and Sta. 176+00)	190	Sq, Yd.	\$90.00	\$17,100.00	\$100.00	\$19,000.00	\$85.00	\$16,150.00	\$57.00	\$10,830.00	\$180.00	\$34,200.00	\$60.00	\$11,400.00
621.7110	Construction Sign with Two Posts	4	Each	\$1,000.00	\$4,000.00	\$700.00	\$2,800.00	\$640,00	\$_ \$2,560.00	\$710.00	\$2,840.00	\$1,000.00	\$4,000.00	\$350,00	\$1,400.00
621.7500	Relocation of Existing Sign on two Posts	1	Each	\$600.00	\$600.00	\$400.00	\$400.00	\$350.00	\$_ \$350.00	\$390,00	\$390.00	\$400.00	\$400.00	\$500.00	\$500.00
623.1000	Loop Detector Sensing Unit (6 Ft. x 6 Ft.)(2 Loops)	1	Each	\$3,000.00	\$3,000.00	\$2,500.00	\$2,500.00	\$2,100.00	\$2,100.00	\$2,330.00	\$2,330.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
623.1100	Type B PuilBox	3	Each	\$3,000.00	\$9,000.00	\$2,500.00	\$7,500.00	\$1,165.00	\$3,495.00	\$1,290.00	\$3,870.00	\$1,300.00	\$3,900.00	\$1,500.00	\$4,500.00
624.0100	Reinforced Concrete Jacket for 3" and 6" Waterline	L.S.	L.S.	L.S.	\$3,000.00	L.S.	\$2,000.00	L.S.	\$2,300.00	L.S.	\$15,900.00	L.S.	\$8,000.00	L.S.	\$15,000.00
624.0341	Furnish and Install 3-Inch 1/8 Bend (22.5 Deg to 45 Deg Inclusive) Class 150	4	Each	\$50.00	\$200.00	\$1,000.00	\$4,000.00	\$1,350.00	\$5,400.00	\$313.00	\$1,252.00	\$500.00	\$2,000.00	\$2,500.00	\$10,000.00
624.0342	Furnish and Install 8-Inch 1/8 Bend (22.5 to 45 Deg Inclusive) Class 150	2	Each	\$300.00	\$600.00	\$6,000.00	\$12,000.00	\$4,000.00	\$8,000.00	\$365.00	\$730.00	\$800.00	\$1,600.Ò0	\$2,500,00	\$5,000.00
624.0343	Furnish and Install 16-inch 1/8 Bend (22.5 to 45 Deg inclusive) Class 150	4	Each	\$1,500.00	\$6,000.00	\$6,500.00	\$26,000.00	\$4,500.00	\$18,000.00	\$365.00	\$1,460.00	\$3,000.00	\$12,000.00	\$2,500.00	\$10,000.00
624.0640	Furnish and Install Cast Iron Fittings	1000	Lbs.	\$4.00	\$4,000.00	\$20.00	\$20,000.00	\$1.80	\$1,800.00	\$8.00	\$8,000.00	\$10.00	\$10,000.00	\$5.00	\$5,000.00
624.1783	Furnishing and Installing Type X Meter Box Including Cast Iron Cover	7	Each	\$200.00	\$1,400.00	\$400.00	\$2,800.00	\$105.00	\$735.00	\$125.00	\$875.00	\$500.00	\$3,500.00	\$550,00	\$3,850.00
624.1790	Relocate Existing Meter Box and all Appurtenances	1	Each	\$100.00	\$100.00	\$400.00	\$400.00	\$250.00	\$250.00	\$777.00	\$777.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
624.1846	Furnish and Install Single Service Lateral and all Appurtenances	3	Each	\$3,000.00	\$9,000.00	\$1,000.00	\$3,000.00	\$4,250.00	\$12,750.00	\$2,200.00	\$6,600.00	\$4,000.00	\$12,000.00	\$1,000.00	\$3,000.00
624.1847	Furnish and Install Multiple Service Lateral and all Appurtenances	2	Each	\$3,200.00	\$6,400.00	\$1,600.00	\$3,200.00	\$4,750.00	\$9,500.00	\$3,840.00	\$7,680.00	\$5,000.00	\$10,000.00		\$3,000.00 3 of 6 Sheets

PROJECT: FARRINGTON HIGHWAY DRAINAGE IMPROVEMENTS, VICINITY OF NANAKULI AVENUE TO NANAKULI STREAM AND VICINITY OF LUALEI PLACE TO PRINCESS KAHANU AVENUE PROJECT NO.: 93A-01-01 AND 93A-02-01 Net Length of Project: 1.16 Miles ISLAND: OAHU DISTRICT: EWA AND WAIANAE DATE ADVERTISED: Internet Posting November 13, 2003 BIDS OPENED: December 18, 2003 COMPLETION TIME: One Hundred Sixty (160) Working Days				HIGHWAY (CONSTRUCTION D., LTD.	DELTA CONSTRUCTION CORPORATION		OKADA TRUCKING CO., LTD.		RONS CONSTRUCTION CORPORATION		T. IIDA CONTRACTING, LTD.		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION HIGHWAYS DIVISION	
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
624.4670	Removing, Cleaning, Painting, and Relocating Fire Hydrant and Appurtenances	3	Each	\$600.00	\$1,800.00	\$3,000.00	\$9,000.00	\$10,000.00	\$30,000.00	\$15,770.00	\$47,310.00	\$5,000.00	\$15,000.00	\$2,500.00	\$7,500.00
624.4672	Furnish and Install Fire Hydrant and Appurtenances	2	Each	\$1,200.00	\$2,400.00	\$3,000.00	\$6,000.00	\$13,250.00	\$_ \$26,500.00	\$12,480.00	\$24,960.00	\$5,000.00	\$_ \$1,0,000.00	\$3,000.00	\$6,000.00
624.4674	Furnish and Install 8-Inch Gate Valve	3	Each	\$800.00	\$2,400.00	\$1,500.00	\$4,500.00	\$850.00	\$2,550.00	\$1,150.00	\$3,450.00	\$1,500.00	\$4,500.00	\$1,500.00	\$4,500.00
624.4675	Furnish and Install 8-Inch Gate Valve Frame and Cover	3	Each	\$400.00	\$1,200.00	\$500.00	\$1,500.00	\$500.00	\$1,500.00	\$570.00	\$1,710.00	\$3,000.00	\$9,000.00	\$2,500.00	\$7,500.00
629.0100	Type Blue Reflective Pavement Marker (3 Each)	L.S.	L.S.	L.S.	\$70.00	L.S.	\$100.00	L.S.	\$2,760.00	L.S.	\$3,060.00	L.S.	\$3,000.00	L.S.	\$15.00
645.1000	Additional Police Officers And/Or Additional Traffic Control Devices	F.A.	F.A.	F.A.	\$54,000.00	F.A.	\$54,000.00	F.A.	\$54,000.00	F.A.	\$54,000.00	F.A.	\$54,000.00	F.A.	\$54,000.00
647.1000	Archaeological Monitoring	F.A.	F.A.	F.A.	\$20,000.00	F.A.	\$20,000.00	F.A.	\$20,000.00	F.A.	\$20,000.00	F.A.	\$20,000.00	F.A.	\$20,000.00
650.0404	Curb Ramp, Type D Modified	2	Each	\$20.00	\$40.00	\$6,750.00	\$13,500.00	\$1,500.00	\$3,000.00	\$7,200.00	\$14,400.00	\$6,000.00	\$12,000.00	\$6,000.00	\$12,000.00
699,1000	Mobilization (Not to exceed 10 percent of the Sum of All Items Excluding the Bid Price of This Item, and Force Account Items)	L.S.	L.S.	L.S.	\$60,000.00	L.S.	\$116,000.00	L.S.	\$60,000.00	L.S.	\$128,000.00	L.S.	\$92,960.00	L.S.	\$125,000.00
	a. SUBTOTAL - Project No. 93A-01-01				\$1,152,120.00		\$1,384,545.00		\$1,386,770.00		\$1,421,822.00		\$1,598,000.00		\$1,344,870.00

Sheet No. 4 of 6 Sheets

	FARRINGTON HIGHWAY DRAINAGE IMPROVEMENTS, VIC TO NANAKULI STREAM AND VICINITY OF LUALEI PLACE T AVENUE	 E 										·	1941 - 1944 - 1944 - 1944 - 1944 - 1944 - 1944 - 1944 - 1944 - 1944 - 1944 - 1944 - 1944 - 1944 - 1944 - 1944		
PROJECTIN	O.: 93A-01-01 AND 93A-02-01 Net Length of Project: 1														
ISLAND: O	AHU DISTRICT: EWA AND WAIANAE	1	CONSTRUCTION O., LTD.	9	CONSTRUCTION	OKADA TRUCKING		1	ONSTRUCTION		T. IIDA	STATE OF HAWAII DEPARTMENT OF			
	DATE ADVERTISED: Internet Posting November 13, 2003 BIDS OPENED: December 18, 2003				O., E1D.	CORPORATION		CO., LTD.		CORI	PORATION	CONTRACTING, LTD.			SPORTATION AYS DIVISION
COMPLETIC	COMPLETION TIME: One Hundred Sixty (160) Working Days														
ITEM NO.	NO. ITEM QUANTITY UNIT USE		UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
206,2020	Structure Escavation for Drainage System	172	Çu. Yd.	\$100.00	\$17,200.00	\$250.00	\$43,000.00	\$350.00	\$60,200.00	\$200.00	\$34,400.00	\$300.00	\$51,600.00	\$175.00	\$30,100.00
209.0100	Water Pollution and Erosion Control	F.A.	F.A.	F.A.	\$35,000.00	F.A.	\$35,000.00	F.A.	\$35,000.00	F.A.	\$35,000.00	F.A.	\$35,000.00	F.A.	
603.0020	Filter Material for Perforated Culverts	448	Cu. Yd.	\$60,00	\$26,880.00	\$100.00	\$44,800.00	\$60.00	\$26,880.00	\$100.00	\$44,800.00	\$60.00	\$26,880.00	\$60.00	\$35,000.00
603.1006	12-Inch Perforated Reinforced ConcretePipe, Class IV, or 12-Inch Perforated PVC	280	Lin. Ft.	\$30.00	\$8,400.00	\$60.00	\$16,800.00	\$50.00	\$14,000.00	\$7.00	\$1,960.00	\$100.00	\$28,000.00	\$40.00	\$26,880.00 \$11,200.00
604.5010	Type "1" Drywell Cover, 3.00 feet to 3.99 feet	4	Each	\$500.00	\$2,000.00	\$14,000.00	\$56,000.00	\$23,450.00	\$93,800.00	\$13,100.00	\$52,400.00	\$8,000.00	\$32,000.00	\$12,000.00	\$48,000.00
604.5012	Type "2" Drywell Cover, 4.00 feet to 4.99 feet	5	Each	\$600.00	\$3,000.00	\$13,000.00	\$65,000.00	\$21,450.00	\$107,250.00	\$10,700.00	\$53,500.00	\$10,000.00	\$50,000.00	\$10,000.00	\$50,000.00
604.5020	Type "1" Drywell, (20 feet deep)	80	Lin. Ft.	\$550.00	\$44,000.00	\$590.00	\$47,200.00	\$580.00	\$46,400.00	\$980.00	\$78,400.00	\$600.00	\$48,000.00	\$1,700.00	\$136,000.00
604.5022	Type "2" Drywell, (20 feet deep)	100	Lin. Ft.	\$550.00	\$55,000.00	\$590.00	\$59,000.00	\$580.00	\$58,000.00	\$980.00	\$98,000,00	\$600.00	\$60,000.00	\$1,100.00	\$110,000.00
604.5105	Drywell Testing and Reports (9 Each)	L.S.	L.S.	L.S.	\$1,000.00	L.S.	\$6,600.00	L.S.	\$9,000.00	L.S.	\$60,900.00	L.S.	\$18,000.00	£.S.	·
621.7110	Construction Sign with Two Posts	4	Each	\$1,000.00	\$4,000.00	\$700.00	\$2,800.00	\$500.00	\$2,000.00	\$710.00	\$2,840.00	\$1,000.00	\$4,000.00		\$78,880.00
630,8000	Reroute Signal Corps Duct Thru Drywells and Catch Basins	F.A.	F.A.	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.		\$1,500.00	\$6,000.00
645.1000	Additional Police Officers And/Or Additional Traffic Control Devices	F.A.	F.A.	F.A.	\$36,000.00	ŕ.A.	\$36,000.00	F.A.	\$36,000.00	F.A.	\$36,000.00	F.A.	\$10,000.00 \$36,000.00	F.A. F.A.	\$10,000.00 \$36,000.00
647.1000	Archaeological Monitoring	F.A.	F.A.	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,000.00	F.A.	\$10,090.00	F.A.	240 200 20		* /*
699.1000	Mobilization (Not to exceed 10 percent of the Sum of All Items Excluding the Bid Price of This Item, and Force Account Items)	L.S.	L.S.	L.S.	\$12,000.00	L.S.	\$31,000.00	L.S.	\$20,000.00	L.Ś.	\$50,600.00	L.S.	\$10,000.00 \$30,520.00	F.A. L.S,	\$10,000.00 \$55,000.00
N. T.	b. SUBTOTAL-Project No. 93A-02-01				\$264,480.00		\$463,200.00		\$528,530.00		\$568,800.00		\$440,000.00		\$643,060.00

Sheet No. 5 of 6 Sheets

PROJECT NO ISLAND: OA DATE ADVER	PROJECT: FARRINGTON HIGHWAY DRAINAGE IMPROVEMENTS, VICINITY OF NANAKULI AVENUE TO NANAKULI STREAM AND VICINITY OF LUALEI PLACE TO PRINCESS KAHANU AVENUE PROJECT NO.: 93A-01-01 AND 93A-02-01 Net Length of Project: 1.16 Miles ISLAND: OAHU DISTRICT: EWA AND WAIANAE DATE ADVERTISED: Internet Posting November 13, 2003 BIDS OPENED: December 18, 2003 COMPLETION TIME: One Hundred Sixty (160) Working Days		E HIGHWAY CONSTRUCTION CO., LTD.		DELTA CONSTRUCTION CORPORATION		OKADA TRUCKING CO., LTD.		RONS CONSTRUCTION CORPORATION		T. IIDA CONTRACTING, LTD.		DEPAR TRANS	OF HAWAIÍ RTMENT OF PORTATION LYS DIVISION	
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
TIEW 140.	a. SUBTOTAL-Project No. 93A-01-01 brought forward				\$1,152,120.00		\$1,384,545.00		\$1,386,770.00		\$1,421,822.00		\$1,598,000.00		\$1,344,870.00
	 SUBTOTAL-Project No. 93A-02-01 brought forward 				\$264,480.00		\$463,200.00		\$528,530.00		\$568,800.00		\$440,000.00		\$643,060.00
	c. TOTAL (a+b)93A-01-01 and 93A-02-01				\$1,416,600.00		\$1,847,745.00		\$1,915,300.00		\$1,990,622.00		\$2,038,000.00		\$1,987,930.00
	A. Hawaii Products Preference				Yes		Yes		Yes		No		Yes		
	AMOUNT FOR COMPARISON OF BIDS				\$1,416,600.00		\$1,847,745.00		\$1,915,300.00		\$1,990,622.00		\$2,038,000,00		\$1,987,930.00
	Project Manager: Sean Hiraoka Date: December, 2003														
	and the second s			,					<u> </u>				 	Sheet No.	6 of 6 Sheets